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Puzzle 1 (Hard, difficulty rating 0.67)

| |
o|~|o]—|o|w|afst|m]  Bl<|w|o]m|—|—]wo|wo Flo[—|~|<|[o|m|ofwf—] _Jo|m|w|o|—|<|o|af~
o o S
—|o|w|o|a|st=|o|o] || —|o|w|[<t|m|~[o]  Bo|m|wl—|af oo Sl ||| ||o]o|m|w
4 4 r
<||ofo|~|o]o|w|—]  S|o|~|[mla|o]olol—[<]  S~|o|t|w|o|o|m|—|a| -Slo|~|ol—|w]|ol—|<t|wo
3 3 :
w|<|fo|o|—|mfwo|~|  Flo|m| || —|~f~[w|o]  Fle|N|©o|wo|~[wl—|m|al  Ho|<|o|w|~[—|~|wo|m
m|eo|ofs|w|—of = B —||—lofst oo |m|of  Blm(wl—|o|—|afs|ofo] - Zf—|w|m]o|s - lo|©
S 1 ©
~[—|@||m|o|wfo|<t|  S|o|o|olo|m~afst =]l S| t|o]c=lol  Joif|wo]m|o|ofvl—| <
S 5 P
o) 5] b4
o|o|—|o|—|m]s|n|o]  S|lo|<|o|—|©|ml—|~|o]  S]o|<|m|o|w|~lofa| =] wlm|o|—|<|o|w]o|—|]
N ™ <t
ojwo|<t|=|o|o|—|m|o]  o]~|[—|wv]<|a|o]o|o|m] o]l —|m|<|w|wo|o]  o]—|o| ||| w]m|wo|—
N X N
©|m|—|o|t|afol—o]  Slm|o|a]=(ojwls|o|=]  Flw|o|—|n|o|ol—(st|m]  F|w|w|af—|o(—]< oo




